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Geometry A Practice Final Exam

Multiple Choice

Identify the choice that best completes the siatement or answers the question,
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Use the diagram to answer the following question(s).

1. What is another name for EI_ ?
a OB

& 7

2. What is another name for E??
a OB
b. JB

0J
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3. The figure beiow is a rectangular shipping box. Name two different planes that contain DI, &7¢ e

@ plane ADE, plane CGH
b. plane ADE, plane FBC
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7. Fmd the perimeter and area ofthc polygon with vertxces A( 1,5), B(—l, -4)

AES = T Al =l [
4. Find 48, Ll =26
AR PR = AC
w RAG = Y
8 -aq
e N
12 c. 205
b. 53 d 70
5. Identify the segment bisector of 4B, @M“}
Motice The ¢o %G fau:sfmg; a0
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a. lineM; AB=138 c. lineM:AB=19
B, M; 4B=~133 3 d. M;AB=19

6. The endpeints of GH are G(LB,OJ and H(7, ~8). Find the coordinates of the midpoint M,
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a. _(-5,_4) -
b (10 @ (2-4)
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. Perimeter = 28 umts
Area = 45 ynits?

b.  Perimeter = 18 units
Area = 81 units?

Perimeter = 14 units
Area = 42 ypits?
d. Perimeter = 26 units
Area = 36 units?
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8. In the diagram, ”MBDA“144°medm£ADC flg{#!‘:;[f“» {ﬁf:*\ Lk inie Fostolate
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10. In the diagram, DC bisects ./_’BDA.@’hld ms/ADC.) Latie &S ol @Egﬁc,‘?z
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“ e
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1= P 3~ 27
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b. 88° d. 22°
< % i
Ao 11 mZ1=73° Find the complifnent and the supplement of Z1.

a. Complement = 90°, Supplement = 180°

Complement ='17°, Supplement = 107°
b. Complement = 27°, Supplement = 117°

Complement = 73°, Supplement = 80°
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{. 12. Two angles form a Jinear pair, The measure of one angle is clght times the measure of the other angle. Find
_the measure of thé;larger angle — et 4
T T S (S 160° A AR
b, 157.5° A o800 el ‘1 ;o g

Q
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M NP
@J True; They are a linear pair. c. True; They are adjacent angles,
b. True; They are vertical angles. d. False
ﬁ 14. Find the values of x and y. dTﬁ‘h?%": ﬁib%gg’ﬂ i< &W‘méﬁ st eV ‘t‘:h__q,@ g d?c.;;
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g x=20,y=2 ¢. x=20,y=14
B x=8,y=14 d. x=8,y=2 v =Y

E’ } 15. Inthe diagram, ¢ || &. Identify three numbered angles that have a measure of 105°.
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8. £2,/7,and £1 c. 22, /4,and £1
b. £3,£7,and £4 dy 22, 23,and £7
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16 In the diagram, o 6. Find the vaiue of x.

(x+50)

a. 120 c. 20

b2 60 d. 160
;f% 17. Inthe dia EEbisects ZACD and j || k. Find the ﬁ;g;ll;;:;:\‘
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LY 8. Find the distance from point P to R_é .
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4. about 3.2 ynits €. 10 units
b. 4 units 4> about 2.8 ynits
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D 19. Write an equation of the line passing through the point (6, -2) that Lg’garallei: wtheliney=dr—1], _
a, y=—%x~2 Y Paac .k C y=dr~2 F Y, min ‘i?{'“'-?ﬁs} Pl E’Ej—;(ﬂ”};f;

Y~E0 =4 (x-6)
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e’ 21. Anarchitect is designing a garden for a client on a planning sheet. The client requests the relocation of a
water fountain by the ryle (x, y] - (x +9,y- 7). Later, the client decides that they would prefer the water

fountain’s location moved from this new positiofl 5 units lefi and 2 units ufs Find the composition as a single

fransformation,
a. (x, y) - (x.+2,y-—5)

B (57) > (s+45-5)

.c. (x,y) ~ (x+11,y-12)
d. (x,y) - (x+14,y—9)

. 57{%“-’{; Y=
(= =5, v+

(x+H, 3 -5)
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i 2 22, Graph ABCD with veﬂgc[ggs B(2, 1), €3, 3) and D(3, 1) and its image after the reflection in the line r: x = 4,

. . 1
- 1
L E’ D ] *
& “. ) i
- [ B
. ol | ¢
C
Y I ¢ '
C3 / J‘ 4
2 - [N
- B D] . s
=S | 4| b 4 ¢ _; P B D
) i ) o
L 2
4 i
i. 13
a. 4 i 3
v c N b
1¥ ﬂ}i a yf =
I & i . &
i . ( T v rc'
2 \‘. LY /‘
\ ra ‘..\
Bt 3
Fa r L L > Fa
35 -+ 2 x B - -2 i ;
2 "
.
- "1\
@ N 1‘{/ d J
h!
i

/

- A , ,
A BT and ARG ase <ou; Siatent
"@ﬁ"@i‘f&a SR Lﬁ . |




Name:

«_f__ 23, Graph AB with endpoints 4(2, -2) and B(2, 1) and its image after a reflection in the line y =x
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24. Graph AA4BC with vertices A4, 0}, B(=3, 2) and C(-1, 2) and its image after the glide reflection

Transiatien: (x,y) - (x+2,y) . o =
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a. 5 ; reduction

b. %1, reduction
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£ 27. Find the velue
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L:} 28. Find mZM.

M e A % Jo =Ll

54°

a. 54° ¢ 63°
b. 27° é;, 36°
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[ 29. Find ;QQKW.
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30. Inthe diagram, ACDE = A GHI. Find the value of .
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m 32. Inthe diagram,

name the vector and select ll’S component form,
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Name: ' s A

L33 AX and E bisect each other at point M. Which theorem can be used to prove AABM = AXYM?

a. SSS b. AAS c. ASA {d SAS
fjﬁ 34, BD bisects AADC and DB bisects ACABC Which theorem can be used to prove AADB = ACDB?
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determined.
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£
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t-8, ASA Congruence Theorem

b, Right Angles Congruence Theorem

/ey SSS Congruence Theorem

++d. Corresponding parts of congruent triangles are congruent. . ¢ F¢
i€ Vertical Angles Congruence Theorem

C
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% 38, Find the coordinates of tpe ciroumoenter of A\ ABC with vertices 4 (7.-8), B(5,-2), and c(1,-2);
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a NE=3 u"'“""} L . NE=24 %
b. NE=60 R (d>yNE=30 Loy e &

...........

L < o . %
i "} 41. Which statemcnt&true “based on the diagram? ey

}-'r. ) 3 . F : B i . o . . e 'IJ
.;-“"t‘tf"-';'”é"é’ £ ”f"gnu“[i 3 *‘f P ps G % ﬁci‘z

g Fara .{-'v
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B C [ e} Lo v e . i . L
a - ZABE and ZEBC are vertical angles. b iF Eﬁ'? i tt;’fc'c‘sf‘ij L ;‘/E 6.
s ——

b., BE isan angle bisector.

=" Points 4, B, and C are collinear.

d. none of these

s
42. ich statement étrue}ased on the diagram?
Mo Segiment, -
) : “'2} »S‘ {&..f e .éz, Qﬂgﬁ_”}\h dl C"{"’}C-& de'b(_f

. Q 5 ;"Gfi;??;"""‘ fagss S0 G oi e & ret j e

]

a. JM and MG are congruent segments. = Bdereg, ff £ /:g;«‘
(1_:[} LFMG and ZHMG are a linear pair. f,«-&

o
c. MJ and MH are opposite rays. '

Ny RN |
«d%; none of these _ | e T-;:»;, m.,.,%

it OpF FS
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Name:

43. Which of the following atomonts is false?
. m i

o 1 r" '\. ;\ -
] ‘\ i w'r: S En
. —> . PR
a. Linenand BD intersect at point D. G- Points 4, B, and C are collinear.
b, Line m intersects plane S 8t point C. 4 Line nis in plane S.
“!‘; . . .{f_.,.—'"""':;__; .
L. A4 Which of the following statements if false?
— —
a. CDand 4B are coplanar.
. i —*
b, Plane Tand plan® Cintersectat AB. T S Lo i F -
d E gj":h:é-f{f‘r Ej" f & & AR ?f f f;"‘h ﬁ;v" R R j

(‘5\3 Plane S contains points L, B, an
.4~ Points 4, B, and C all exist in both planes Sand T.

msl = (2 +4)° and m£5 = (& +20)°
IR

(. 45. Tnthe diagram,

COTUR T

a 26° A
b 64° d 1

18

_What is the measur® of 227
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Name:

Short Answer N

A6. Determine which of the lines aregparallel and which of the lines are Q_crpendiculat- L ..
_________ . erpendiclat: © L -
T e e @& e . ',," B -
d(”} I s 4 5 adepes e
- e § P R
L L |
© e

aalcbld  balbeld {E‘:\i_lbl\d, ale  daldble et

A<t 47. Find the measure of each acute angle- e _ Ny
- : The % pt gt The

i iz ams b

T

A . R . . I
e s vt . [y )
£ KA ke, b % gf )

(ﬁx ‘%gﬂ 41° B. 52°, 3R° C. 40°, 50° D. 68°, 9799 ‘g\; -“-”;'éi
i A3

(Y +Y % U{"p v 1Y
L8 Y 2 LY
44 4
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Problem

a8,

g

. Lk
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e o i v T N
. ' i vy - L e
(2x 10) Mo R L
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{4x + 16}~ w Lo
" P Ly £ 8
e il L Ld .‘l ~

B.x=-13

JAx=29

C.x=31

Ty 40

% b, Y
v e b
;i'r‘é,‘mx uﬁ*gl
4 .
N %

A.mZ1=65% mZ2=115°
C.ms1=115°, mg2=115°
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e AT LTR Leoe i Lo ! K vt
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D.x=13

& .
B. m£1=115% ms2=115° 7S ¥
(2}1‘[141 = (5%, mL2= 65°
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LY & LT et

Lerres et »‘D Frg ety
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Names _ I A

& 50. A search and rescue crew suspect that & ship sank at a{ _l_ocg;tidfg'that 1seqy istanit from thethrge _\_{_ertieue;s*of
e the Bermuda Triangle. Which statement below states the point of concurrency that the search and rescue

crew is looking for and the proper method for locatingdt?

Bermuda
:‘_‘:

L

ol

*" Bahamas

oy, ;-

i

Jamaica

hE g RE Y
s

A. The search and rescue crew is looking for orthocenter. This is found by drawing the three altitudes ofa
triangle. -

B. The search and rescue crew is looking for the incenter. This is found by drawing the three angle bisectors
of a triangle.

.P""\‘
/'C “The search and rescue crew is looking for the circumcenter. This is found by drawing the three
rpendicular bisectors of a triangle.

D. The search and rescue crew is looking for the centroid. This is found by drawing the thtee medians of 2
triangle.
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